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101 21214| 40,920 38,931 1,989
01 B 8,800 8,511 289
Odl=22 HITAIE 22X A2
9,649 x2H x 1 A| 2Ex76 2 x6IH A 8,800
02 JIEtE 2 2% 32,120 30,420 1,700
OMZEEHAINM('CHEZ :HYAZLX) 32,120
- s 39,219,000 x1H x24/40 23,532
A2 2 8,275 x1H x10A| 2+ 12& 993
-JIEx4 960




A o ekat St
FM: #HE2AZH (o2 D)(J1EHIIE
& o 2d|
= _ — SHE]|
SA - BB B () - MM - BES e
PN 40,0003 x 1 128 480
© Bt E 20,0003 x2H 128 480
e R=ge ] 155,000 * 12 « 128 %24/40 1,116
—H A S A 130,000& 1H 128 1,560
-tHere syl 50,000% =1 = 12& «24/40 360
- JtE &t
1,961,000 *84%*86%+*1/30*1/4.8x29 Al 2+ 286
-AHEE JI2RE3 28,807,000 *11.5% 3,313
Jl2&dl 52,184
fH2IH 5,764
201 et 5,764
01 At 221l 5,764
ORN2Y LE=EH| 3,340,000 3,340
ORN2E S&Hl 840,000& 840
O=A2 & xt 132,000& =128 1,584
HRFANHI 42,720
202 4l 42,720
01 = LH o4 1l 42,720
OFYRFAAL 20,0002 13F«13L 128 40,560
OMZSUHEZSI dHl 20,000 x 12«3 «3& 2,160
R =2 3,000
203 YR =& 3,000
04 FN2ELSZ=TH| 3,000
OFAN2ggeFaH(Z2:129)
250,000& »12& 3,000
AL E S FHSH 700
405 RHoHF S HI 700
01 AL EZFH S 700
OZMAHIEtDI 700,000& 700




